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 הערות:

התשובות המוצגות כאן הן בגדר הצעה לפתרון השאלון. .1

מוזכרות כאן, לחלק מהשאלות.תיתכנה תשובות נוספות, שאינן  .2
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less productive

get the same  amount of work done in fewer hours
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תשובות נוספות-ראה נספח



introduce/have a four-day workweek

 allow workers to choose their own day off

תשובות נוספות-ראה נספח

תשובות נוספות-ראה נספח
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:3שאלה 

- complete (two hour) meetings in thirty minutes.

- spend less time on phone calls and emails.

- spend less time in meetings.

:4שאלה 

- reduce the workweek to four days.

:5שאלה 

- create a three day weekend.
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